Use the following graph to answer questions 1 through 3.
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1. At point F

(a) f(z) is negative and f/(z) is zero

(b) f(z) is zero and f’(z) is negative

Q@ f(z) is positive and f'(z) is zero
f(z) is zero and f'(z) is positive

e) none of the above
2. f'(z) at point A is greater than

(a) f'(z) at point B
(b) f'(z) at point E
(¢) f'(z) at point F
(d) all of the above

(e) none of the above
3. At point B

(a) f(z) is positive and f’(z) is negative
(b) f(z) is negative and f'(z) is positive
(c) f(z) is negative and f'(z) is negative
(d) f(=) is positive and f’(z) is positive

(e) none of the above
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Use the following graph to answer questions 4 through 8.

4 4
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4. lim f(z) =

z=1
(a) 2
(b) 3
@ does not exist (or undefined)
(d) none of the above

5. lim f(z)=

z——4-
(a) 1

. (b) 2
(c) does not exist (or undefined)
(d) none of the above

6. lim f(z)=

z——4+t

(a) 1
(b) 2
(c) does not exist (or undefined)

(d) none of the above

7 lim f(z) =
(a) 1
(b) 2
(c) does not exist (or undefined)

(d) none of the above

8. f(—4) =
(a) 1
(b) 2
(c) does not exist (or undefined)

(d) none of the above
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5 T z? +8x+15)
"zas\xz2+4+22—15/)

(a) 0
(b) 4

(c) 5
(d) does not exist (or undefined)

(e) none of the above

10. lim (1“‘/5) =

z=1\ z—1

(a) -1/2

(b) 1/2

(c) 0

(d) does not exist (or undefined)

(e) none of the above

11. lim (M)
z—3 z—3
(8) 7
(b) 0
(c) 4
(d) does not exist (or undefined)
(e) none of the above
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Use the following graph to answer questions 12 and 13.
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12. Which formula below is a formula for the slope of the line L?

® 5

o 01
@ Lo
oy 22

13 Which formula below is a formula for the slope of the tangent line M?

. f(z+h)
-

. flz+h) - f(z)
() )lzl—r»% (z+h)—=z

. f(@)+h— f(z)
(c) 111-5% (z+h)—=z

. f@) - flz+h)
(@) ilzl—rf%) (z+h)—z

. f@)
& m ==
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14 If f(z) = V222 — z, then f'(z) =
(a) 3(22% —z)"?/3
(b) i(4z—1)=2/3
(c) 3(22% —2)"3(4x - 1)
(d) i(2z? - z)"3(4z - 1)

(e) none of the above

15. If f(z) = (2 + 1), then f'(z) =

(a) 3(z? +1)%(2z)
(b) 3(z? +1)*

(c) 3(22)°

(d) 3(z? +1)%(2)

(e) none of the above

16. If f(z) = 2zvz + 1, then f'(z) =

(a) 2(z+1)Y% + z(z +1)"1/2
(b) 2(z +1)"2 4+ z(z+1)"1/2
(¢) z(z+1)"1/2

(@) (z+1)1/2

(e) none of the above

3z —10

z2+1

2z(3z — 10) — 3(z% + 1)
(z2 +1)2

3(z? + 1) — 2z(3z — 10)
(2 +1)2

3(z2 + 1) + 2z(3z — 10)
(1:2 + 1)2

17. If f(z) = , then f'(z) =

(a)

(b)

(c)

@) o

(e) none of the above
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18. For f(z) = 2¢® — 5z, what is {Chy h}z = f(z)

4zh + 2h% — 5h
y H S0

~10z + h
(b) o
© 4zh + 2h? — 5z
h
2
\ Pzh + 2h% — 5h
(d 5

(e) none of the above

19. Let f(z) = 5z — 2. The equation of the tangent line to f(z) at the point (2,2) is
(a) y=7z—16
(b) y=2z—2
(c) y=—-Tz+ 16
(d) y=-Tz—16
(e) none of the above

20. ¥ f(z) = z* — 323 4+ z — 2, then f”(2) =
(a) 48
(b) 16
(c) 12
(d) -10
(e) none of the above
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